The attributive adjective follows (normally) the noun it modifies and agrees in gender, number, and

articularness.
25 010 (a) horse, a good (one) 2377 OO the horse, the good (one)
pimhiilyiobie) (a) mare, a good (one) 1237 TV the mare, the good (one)
"2 0010 horses, good (ones) mpmbiciyfiablebioly] the horses, the good (ones)
DI NIoW mares, good (ones) jghimbichyBghletlolyi the mares, the good (ones)

The predicate adjective preceeds (normally) the noun it modifies and agrees in gender and number, but
not articularness.

DI0 2 good is (a) horse ([a] horse is good)

obioly mbii) good is the horse (the horse is good)

mbloRetloly the horse (emphatic) is good

mBobioly limpmbio) good are the horses (the horses are good)

Near Demonstratives: Far Demonstratives:

ms i) this (masc.) ms N7 that (masc.)

fs DR? this (fem.) fs N that (fem.)

cp n‘vx these mp ik (o71) | those (masc.)
fp 7 (37) | those (fem.)

The demonstratives can function as pronouns or adjectives. They roughly follow the same rules as
attributive adjectives (when an adjective) and predicative adjectives (when a pronoun) above. Ie:

<lomirni) this is the horse

<ilelul) this is (a) horse

mplebloly| ﬂ‘,_?ts these are the horses

iyaReilomn] this horse

iy ReLlon] 2% good is this horse (this horse is good)

jmb 1oy b o)y Brmi this is the horse, the good one (this is the good horse)
aiinf=yichyRebich this good horse

Construct State (the construct noun never takes the article, it is articular in meaning if the head noun is):
The construct state will not always have the dash (-), nor does the dash necessarily mean the nouns

are in construct state. If there is not a dash, there will be a conjuctive accent though (usually a ).

WRTTOI the horse of the man

YRR the horses of the man

izhl~ ekl horses of (a) man

WIRTT0 the mare of the man

YRTTION the mares of the man

Nouns in plural and the construct state will shorten. Te:

ms Absolute  ms Construct mp Absolute mp Construct
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